

Grade Boundaries

Grade	A*	Α	В	С	D	E	U]	
Mark /	109	85	67	49	31	13	0		
144									x 1 25
Scaled/	136	106	84	61	39	16	0		A 1.20
180									

note: the scaled score is added to the scores in the other modules to find an overall grade, not the raw mark

OCR is an exempt Charity

Section A (37 marks)

$$6$$

$$6$$

$$6$$

$$6$$

$$6$$

$$1 \text{ (a) By considering $(r+1)^2 - r^2$, find $\int_{-1}^{1} (r^2 + 3r + 1)$. (b)

$$first [er's expond out (r + 1)^2 - r^3]
(r + 1)^2 - r^2$$
, find $\int_{-1}^{1} (r^2 + 3r + 1) - r^2$

$$= (r^2 + 3r^2 + 3r + 1) - r^2$$
, find $first [r + r^2 + 3r + 1] - r^2$

$$= 3r^2 + 3r + 1 = -this what we are subming.$$

$$how we use this the first first be subm.$$

$$first (r + 1)^2 - r + (4^2 - 7^2)$$
, free box of the subm.

$$first (r + 1)^2 - r + (3^2 - 7^2) + (4^2 - 7^2)$$
, free box of the subm.

$$first (r + 1)^2 - r + (3^2 - 7^2) + (4^2 - 7^2)$$
, free box of the subm.

$$first (r + 1)^2 - r + (3^2 - 7^2) + (4^2 - 7^2)$$
, free box of the subm.

$$first (r + 1)^2 - r + (3^2 - 7^2) + (4^2 - 7^2)$$
, free box of the subm.

$$first (r + 1)^2 - r + (3^2 - 7^2) + (4^2 - 7^2)$$
, free box of the subm.

$$first (r + 1)^2 - r + (3^2 - 7^2) + (4^2 - 7^2)$$
, free box of the subm.

$$first (r + 1)^2 - r + (3^2 - 7^2) + (4^2 - 7^2)$$
, free box of the submation of the submat$$

© OCR 2022

2 In this question you must show detailed reasoning.
Find the exact value of
$$\int_{3}^{\infty} \frac{1}{x^{2}-4x+5} dx$$
. [5]
This is an improper integral as one of the limits is CO. SO firstly we need to natify the limits of our integral.

$$\int_{3}^{\infty} \frac{1}{y^{2}-4x+5} dx = \frac{1}{u+\infty} \int_{3}^{u} \frac{1}{x^{2}-4x+5} dx$$
.
The quadratic in the denominator does not factorise. So we must corplete the square and use a trig / hyperbolic trig substitution.

$$\frac{x^{2}-4x+5}{(x-2)^{2}-(2)^{2}+5} = (x-2)^{2}-(1)^{2}+5$$

$$= (x-2)^{2}-(2)^{2}+5$$

$$= (x-2)^{2}-(2)^{2}+5$$

$$= (x-2)^{2}-(2)^{2}+5$$

$$= (x-2)^{2}-(1)^{2}+5$$

$$= (x-2)^{2}-(2)^{2}+5$$

Α

Turn over



$$\frac{(\cosh x - z)(2\cosh x + i)}{\cosh x - z} = c$$

$$\cosh x = -\frac{1}{2}$$

$$\cosh x = z$$

$$\infty = \operatorname{arcosh} 2 = \ln (2 + \sqrt{2^2 - 1})$$
$$= \ln (2 + \sqrt{3})$$

By considering the graph, we also need the regated

$$y' = \frac{y'}{\cos hx}$$
 value of the root above.
So $2C = -\ln(2 + \sqrt{3})$ as well.
 $y' = \frac{1}{2}$
 $y' = \frac{1}{2}$
 $y' = \frac{1}{2}$
hence $x = \ln(2 + \sqrt{3})$, $zc = -\ln(2 + \sqrt{3})$

G

6
4 (a) A transformation with associated matrix
$$\binom{m 2}{2} \cdot \frac{1}{2}$$
, where *m* is a constant, maps the vertices of a cube to points that all lie in a plane.
Find *m*. [3]
If the transformation meps all points to all plane, the determinant of the matrix is 0.

$$\frac{m 2}{2} \cdot \frac{1}{2} = \frac{m}{2} + \frac{-2}{2} + \frac{2}{2} - \frac{-2}{2} + \frac{1}{2} + \frac{-1}{2} +$$

Turn over







	Section B (107 marks)	
in this quest	tion you must show detailed reasoning.	
Show that	$\int_{2}^{3} \frac{x+1}{(x-1)(x^{2}+1)} \mathrm{d}x = \frac{1}{2} \ln 2.$	[9]—
We co	in Find the integral Using partial fractions	
x	A = Bx + C	
()2-1	$\frac{1}{2}\left(2c^{2}+1\right) = \frac{1}{2}\left(2c^{2}+1\right)$	
	$-\frac{A(x^2+1)+(Bx+C)(x-1)}{2}$	
	$- (x-1)(x^2+1)$	
lance	$\Delta(\alpha^2, \mu) = (\beta \alpha + \beta) (\alpha, \mu) = \alpha + \mu$	
ruice	$A_{2}(2 + 1) + (32 + 2)(32 + 1) = 32 + 1$	
Find A	$\frac{1}{2c^2} + \beta = 0$	
B and C	$\mathcal{DC} : -\mathcal{R} + \mathcal{C} = 1 \rightarrow \text{ solving simultaneously give}$	2
	Constants: A - C = A = 1, B = -1, C = 0	
	, ,	
02	$\frac{2x+1}{2x+1} dx = \int_{-\infty}^{\infty} \frac{1}{2x+1} dx$	
	$(3c-1)(3c^{2}+1)$ $(3c-1)(3c^{2}+1)$ $(3c-1)(3c^{2}+1)$	
J	$\frac{\sqrt{2}}{2} = \left[\ln x^2 - 1 - \frac{1}{2} \ln x^2 + 1 \right]_{2}^{3} = \left[\ln x^2 + 1 \right]_{2}^{3}$	x = h F(x
	$= (\Lambda 2 - \frac{1}{2} \ln 10 - (\ln 1 - \frac{1}{2} \ln s))$	
	$= 1n2 - \frac{1}{2}(n10 + 1n1 + \frac{1}{2})n^{2}$	plify
	$= \ln 2 + \frac{1}{2} (\ln S - \ln 10) \qquad \qquad$	unined ult
	$= 1n2 + \frac{1}{2} \ln \frac{s}{10}$	
	$= \ln 2 - \frac{1}{2}\ln 2 = \frac{1}{2}\ln 2$ as requir	red

R

Two sets of complex numbers are given by $\left\{z: \arg(z-10) = \frac{3}{4}\pi\right\}$ and $\left\{z: |z-3-6i| = k\right\}$, where k 8 is a positive constant. In an Argand diagram, one of the points of intersection of the two loci representing these sets lies on the imaginary axis.



Find the complex numbers represented by the points of intersection.

[7]

This is essentially a coordinate geometry question.
So first we re-write our loci in terms of
$$x$$
 and y .
arg($z - 10$) = $\frac{2}{4}\pi$ is a line, gradient ten ($\frac{2}{4}\pi$) = -1,
passing through (10, 0). So
 $y - 0 = -1(x - 10)$
 $y = -x + 10$
 $12 - 3 - 6i = K$ is a circle, centre (3, 6), radius K.
So ($xc - 3$)² + ($y - 6$)² = K^2
We know they intersect on the imaginary axis,
So intersect at $x = 0$. When $x = 0$, $y = -0 + 10 = 10$
So ($0 - 3$)² + ($10 - 6$)² = U^2
 $\mu^2 = 2S => K = S$

© OCR 2022

8 b) so now we solve for the other point of
intesection.
Subbing
$$y = -x + 10$$
 into $(x-3)^2 + (y-6)^2 = 25$
 $(x-3)^2 + (-x+10-6)^2 = 25$
 $x^2 - 6x + 9 + x^2 - 8x + 16 = 25$
 $2x^2 - 14x = 0$
 $2x(x-7) = 0$
 $x = 0, x = 7$
 $y = 10, y = 3$
So the points of intersection are represented
10; and 7 + 3;

$$f(x) = 1$$

www.nymath hscloud.com 12 (c) Hence find a quadratic approximation to f(x) for small values of x. [3] As given in the formula book, the general Maclaurin series is $f(x) = f(0) + f'(0) = + \frac{f''(0)}{2!} = + \dots$ AS f(o) = ln(l + Sinh o) = lnl = 0 $f'(o) = \frac{Cosho}{l + Sinho} = \frac{l}{l} = l$ $f''(o) = \frac{Sinh(o) - l}{(l + Sinh(o))^2} = -\frac{l}{l} = -l$ $SO \quad F(x) = O + I(x) + \frac{-1}{2}(c^{2}) + \dots$ $F(x) = x - \frac{1}{2}x^{2} + \dots$ a quadratic approximation for $f(\pi)$ is $\pi - \frac{1}{2} \times 2^{2}$. herce (d) Find the percentage error in this approximation when x = 0.1. [2] f(0.1) = ln(1 + sinh 0.1) = 0.09SU.... $f(0.1) \approx 0.1 - \frac{1}{2}(0.1)^2 = 0.09S$ true value - approximation true value error 0.0954... - 0.095 × 100 0.0954... = 0.4837... = $0.484 \times (35F)$

G

G

10 The equation

$$4x^{4} + 16x^{3} + ax^{2} + bx + 6 = 0,$$
where a and b are real, has roots $a, \frac{2}{a}, \beta$ and $3\beta.$
(a) Given that $\beta < 0$, determine all 4 roots. [6]

$$USiNQ \leq \alpha\beta\gamma S = \frac{6}{\alpha} (Product of vpots))$$

$$\alpha \times \frac{2}{\alpha} \times \beta\gamma 3\beta = \frac{5}{4},$$

$$\beta = \pm \frac{1}{2} \Rightarrow \beta < 0, \text{ so } \beta = -\frac{1}{2},$$

$$B = \pm \frac{1}{2} \Rightarrow \beta < 0, \text{ so } \beta = -\frac{1}{2},$$

$$USiNQ \leq \alpha = -\frac{5}{\alpha} (SUM of Potots),$$

$$\alpha' + \frac{2}{\alpha'} - \frac{1}{2} - \frac{2}{3} = -\frac{16}{4},$$

$$Q' + \frac{2}{\alpha'} + 2 = 0,$$

$$\alpha'^{2} + 2\alpha + 1 = 0,$$

$$\alpha''^{2} + 2\alpha + 1 = 0,$$

Α

G

The complex numbers z_2 and z_3 are $z_1 e^{\frac{2}{3}i\pi}$ and $z_1 e^{\frac{4}{3}i\pi}$ respectively.



about the origin. z_1 À Z, Z2 and Z3 with → Re form on equilateral 0 triongle with the origin as the centre. С 73

G

(ii) Show that $z_1 + z_2 + z_3 = 0$.

ow that $z_1 + z_2 + z_3 = 0$.	[2]
$Z_1 + Z_2 + Z_3 = Z_1 + Z_1 e^{\frac{2}{3}i\pi} + Z_1 e^{\frac{4}{3}i\pi}$	-
This forms a geometric series, a=z, r=e	<i>≒</i> ,'π
$So_{7} + 7 + 7 - 2, (1 - (e^{\frac{2}{5};\pi})^{3}) - 7$	(ι- e ^{2iπ})
	- e ^{zix}
$e^{2\pi i} = \cos 2\pi + i\sin 2\pi = 1 + i(0) = 1$	
$SO = 2, + 2z + 2z = \frac{2}{1-2} = 0$	
I- E.	
$= 2 Z_1 + Z_2 + Z_3 = 0$	

А

(b) Given now that z_1 , z_2 and z_3 are roots of the equation $z^3 = 8i$, find these three roots, giving your answers in the form a + ib, where a and b are real and exact. [4]

	First we write 8i in Mod - ory form.
	8i = 8, Ong 8i = 푼, so 군 ³ = 8 (cus 퍞 + isin 포)
	Hence by de Moivre's, Z, = 2 (cos 문 + isin 문) = J3 + i
($\operatorname{OrgumeAs}_{f} = 2\left(\cos\frac{S\pi}{6} + i\sin\frac{S\pi}{6}\right) = -\sqrt{3} + i$
	have $\frac{1}{5\pi}$ $\int z_3 = 2\left(\cos\frac{3\pi}{2} + i\sin\frac{3\pi}{2}\right) = -2i$
(each time
	so voots are $\sqrt{3}$ + i $\sqrt{3}$ + i $\sqrt{2}$

© OCR 2022

12 Solve the differential equation
$$(4-x^{2})\frac{dx}{dx} - sy = 1$$
, given that $y = 1$ when $x = 0$, giving your
answer in the one need to be re-variete. Our DE into a Lincol 1st
order general form DE.

$$(u - cx^{2})\frac{dy}{dx} - cx - y = 1$$

$$= (u - cx^{2})\frac{dy}{dx} - \frac{dx}{dx - cx^{2}} = y = \frac{1}{u - cx^{2}}$$
We can solve this by Using an integrating fattor.

$$T(x) = e^{\int u - x^{2}} dx = e^{\frac{1}{2}u + 1u - x^{2}} = (u - x^{2})^{\frac{1}{2}}$$
Now we multiply through by $T(x)$.

$$x(u - cx^{2})^{\frac{1}{2}} ((u - cx^{2})^{\frac{1}{2}} - \frac{dy}{dx} - cx((u - cx^{2})^{-\frac{1}{2}} - y) = (u - cx^{2})^{\frac{1}{2}}$$
The LHS is implicit product rule. $u = y - u^{2} + \frac{dy}{dx}$

$$y(u - cx^{2})^{\frac{1}{2}} = \int \frac{1}{u - u^{2}} dx = c(u - cx^{2})^{\frac{1}{2}}$$
We can solve this product rule. $u = y - u^{2} + \frac{dy}{dx}$
Now we multiply through by $T(x)$.

$$x(u - cx^{2})^{\frac{1}{2}} \cdot (u - cx^{2})^{\frac{1}{2}} - \frac{dy}{dx} - cx((u - cx^{2})^{-\frac{1}{2}} - y) = (u - cx^{2})^{\frac{1}{2}}$$
The LHS is implicit product rule. $u = y - u^{2} + \frac{dy}{dx}$

$$y(u - cx^{2})^{\frac{1}{2}} = \int \frac{1}{u - u^{2}} dx - \frac{u}{dx} - \frac{u(u - cx^{2})^{\frac{1}{2}}}{(u - cx^{2})^{\frac{1}{2}}} dx - \frac{u(u - cx^{2})^{\frac{1}{2}}}}{(u - cx^{2})^{\frac{1}{2}}} dx - \frac{u(u - cx^{2})^{\frac{1}{2}}}}{(u - cx^{2})^{\frac{1}{2}}} dx - \frac{u(c - cx^{2})^{\frac{1}{2}}}{(u - cx^{2})^{\frac{1}{2}}} dx - \frac{u(c - cx^{2})^{\frac{1}{2}}}}{(u - cx^{2})^{\frac{1}{2}}}} dx - \frac{u(c - cx^{2})^{\frac{1}{2}}}}{(u - cx^{2})^{\frac{1}{2}}} dx - \frac{u(c - cx^{2})^{\frac{1}{2}}}}{(u - cx^{2})^{\frac{1}{2}}}} dx - \frac{u(c - cx^{2})^{\frac{1}{2}}}}{(u - cx^{2})^{\frac{1}{2}}}} dx - \frac{u(c$$

Turn over

www.mymathscloud.com

© OCR 2022

R

www.TRYTAthscious.com The points A and B have coordinates (4, 0, -1) and (10, 4, -3) respectively. The planes Π_1 and 13 Π_2 have equations x - 2y = 5 and 2x + 3y - z = -4 respectively. Α (a) Find the acute angle between the line AB and the plane Π_1 . [4] ĀP We the direction vector stort findi ng 54 Ч 6 10 ĀB 0 Ч 4 0 --3 - 2 - 1 Con Stort between this Find congle the 30 me 54 direction rector and the \mathbf{t} normal π , Using + 0(520 + 4COSO = -2 -2 Coso = 6 70 12+ $6^{2} + 4^{2} + 7^{2}$ 2 170 96.864 SO 9 = arccos Ξ Diagrams help us visualite the age we have found so the angle between the plane π 8A live 96.864 ... - 90 0 is and π side = 6.86° >> AB = 6.864... zo view víew (b) Show that the line AB meets Π_1 and Π_2 at the same point, whose coordinates should be А specified. [5] 6 Ч the line has equation So σ -2 So $x = 4 + 6\lambda$, $y = 4\lambda$ 7 = -22 Subbing into place egnatio S 4+62 -2(4)Use let's TT : Ξ First $-2\lambda = 1$ $\lambda = -\frac{1}{2}$ + 3 - - 니 Now The : 2 -1-22 +62) 8 + 122 $+ l + 2\lambda = -4$ + 122 262 = -13 $\lambda = -\frac{1}{2}$ intersect when $\lambda = -\frac{1}{2}$ each hime they Aß reets Æ at the same point. Π. and Th $(u + 6(-\frac{1}{2}), 4(-\frac{1}{2}), -1 - 2(-\frac{1}{2}))$ Coordinates = 0) = -2

© OCR 2022



Turn over

$$| 4 (a) \operatorname{Find} (3 - e^{-2i\theta}) \operatorname{in terms of 0520}. [2]$$

$$| 4 (a) \operatorname{Find} (3 - e^{2i\theta}) (3 - e^{-2i\theta}) \operatorname{in terms of 0520}. [2]$$

$$| 4 (e^{2i\theta} (1 - e^{2i\theta}) (3 - e^{-2i\theta}) \operatorname{in terms of 0520}. [2]$$

$$| 4 (e^{2i\theta} (1 - e^{2i\theta}) (3 - e^{-2i\theta}) \operatorname{in terms of 0520}. [2]$$

$$| 4 (e^{2i\theta} (1 - e^{2i\theta}) (3 - e^{-2i\theta}) \operatorname{in terms of 0520}. [2]$$

$$| 4 (e^{2i\theta} (1 - e^{2i\theta}) (3 - e^{-2i\theta}) \operatorname{in terms of 0520}. [2]$$

$$| 4 (e^{2i\theta} (1 - e^{2i\theta}) (3 - e^{-2i\theta}) \operatorname{in terms of 0520}. [2]$$

$$| 4 (e^{2i\theta} (1 - e^{2i\theta}) (3 - e^{-2i\theta}) \operatorname{in terms of 0520}. [2]$$

$$| 4 (e^{2i\theta} (1 - e^{2i\theta}) (3 - e^{-2i\theta}) \operatorname{in terms of 0520}. [2]$$

$$| 4 (e^{2i\theta} (1 - e^{2i\theta}) (3 - e^{-2i\theta}) \operatorname{in terms of 0520}. [2]$$

$$| 4 (e^{2i\theta} (1 - e^{2i\theta}) (3 - e^{-2i\theta}) \operatorname{in terms of 0520}. [2]$$

$$| 5 (e^{2i\theta} (1 - e^{2i\theta}) (3 - e^{-2i\theta}) \operatorname{in terms of 0520}. [2]$$

$$| 5 (e^{2i\theta} (1 - e^{2i\theta}) (3 - e^{-2i\theta}) \operatorname{in terms of 0520}. [2]$$

$$| 5 (e^{2i\theta} (1 - e^{2i\theta}) (3 - e^{-2i\theta}) \operatorname{in terms of 0520}. [2]$$

$$| 5 (e^{2i\theta} (1 - e^{-2i\theta}) (1 - e^{-2i\theta}) \operatorname{in terms of 0520}. [2]$$

$$| 6 (e^{2i\theta} (1 - e^{-2i\theta}) (1 - e^{-2i\theta}) \operatorname{in terms of 0520}. [2]$$

$$| 6 (e^{2i\theta} (1 - e^{-2i\theta}) (1 - e^{-2i\theta}) \operatorname{in terms of 0520}. [2]$$

$$| 6 (e^{2i\theta} (1 - e^{-2i\theta}) (1 - e^{-2i\theta}) \operatorname{in terms of 0520}. [2]$$

$$| 7 (e^{2i\theta} (1 - e^{-2i\theta}) (1 - e^{-2i\theta}) (1 - e^{-2i\theta}) \operatorname{in terms of 0520}. [2]$$

$$| 7 (e^{2i\theta} (1 - e^{-2i\theta}) (1 - e^{-2i\theta})$$

WWW. MYNHIISCIOUH. COM $\frac{\alpha}{1-r} = \frac{2}{1-\frac{1}{3}z^2}$ (continued) 14(b) C + iS = -20 $\frac{3z}{3-z^2}$ $= \frac{3e^{i\theta}}{3-e^{2i\theta}} \times \frac{3-e^{-2i\theta}}{3-e^{-2i\theta}} \begin{bmatrix} \text{multiplying by} \\ \text{Complex Conjugate} \end{bmatrix}$ $= \frac{3e^{i0}(3-e^{-2i0})}{(3-e^{-2i0})(3-e^{-2i0})}$ = $\frac{9e^{i0}-3e^{-i0}}{10-6\cos 20}$ Using result from a) $9(\cos 0 + i\sin 0) - 3(\cos(-0) + i\sin(-0))$ 10 - 6 co 2 2 0 Using (cos(-0) = coso Sin(-0) = - Sin0 Icoso + gising - 30000 + 3ising $10 - 6 \cos 20$ <u>6050</u> + 125ino 10-60050 10-600520 $\frac{3\cos \theta}{S-3\cos 2\theta} + \frac{6\sin \theta}{S-3\cos \theta}$ her<u>ce</u> C = $\frac{3\cos\theta}{5-3\cos2\theta} \quad \text{and} \quad S = \frac{6\sin\theta}{5-3\cos2\theta}$ $\sin \theta + \frac{1}{3}\sin 3\theta + \frac{1}{3}\sin 5\theta + \dots = \frac{6 \sin \theta}{5 - 3\cos 2\theta}$ SD as required

© OCR 2022

Turn over



(c) Finally, a variable force $2m \cos 2t$ newtons is added, so that the motion is now modelled by

Finally, a variable force 2m cos 2t newtons is added, so that the motion is now modelled by
the differential equation

$$\frac{d^{3}x}{d^{2}} + 2\frac{dx}{d^{4}} + 2x = 2\cos 2t.$$
(0) Find x in terms of the now in Aute as general solution

$$x = e^{-e} (A \cos t + B \sin t)$$
So our solution is

$$x = e^{-e} (A \cos t + B \sin t) + P(t)$$

$$\frac{1}{12} + \frac{1}{12} + \frac{1$$

© OCR 2022

R

	23	
15(c)(i)	(continued)	217
In the lo	ng term, the particle is seen to perform simple harmonic motion with a period of just	
over 5 se	-	
(ii) Veri	fy that this behaviour is consistent with the answer to part (c)(i). [2]	
	$\Delta s \neq \Rightarrow \infty e^{-t} \Rightarrow 0.$	
	So $x \rightarrow -\frac{1}{5}\cos 2t + \frac{2}{5}\sin 2t$	
	We can rewrite $2c$ as $t \rightarrow \infty$ in harmonic form,	
	$\partial C \Rightarrow A \sin(2t + \alpha)$	
	so $\omega = 2$.	
	Hence time period $T = \frac{2\pi}{\omega} = \frac{2\pi}{2} = \pi = 3.141$	
	This time period is Close to 3 seconds as expected.	

A



ADDITIONAL ANSWER SPACE

If additional space is required, you should use the following lined page(s). The question number(s) must be clearly shown in the margin(s).



Copyright Information

OCR is committed to seeking permission to reproduce all third-party content that it uses in its assessment materials. OCR has attempted to identify and contact all copyright holders whose work is used in this paper. To avoid the issue of disclosure of answer-related information to candidates, all copyright acknowledgements are reproduced in the OCR Copyright Acknowledgements Booklet. This is produced for each series of examinations and is freely available to download from our public website (www.ocr.org.uk) after the live examination series. If OCR has unwittingly failed to correctly acknowledge or clear any third-party content in this assessment material, OCR will be happy to correct its mistake at the earliest possible

If OCR has unwittingly failed to correctly acknowledge or clear any third-party content in this assessment material, OCR will be happy to correct its mistake at the earliest possible opportunity.

For queries or further information please contact The OCR Copyright Team, The Triangle Building, Shaftesbury Road, Cambridge CB2 8EA.

OCR is part of Cambridge University Press & Assessment, which is itself a department of the University of Cambridge.

© OCR 2022